
>

sl

N.B.

Q. I

B.

A.

ii. The regular expression (P+Q)* is
a) (P*+Q*)*
c) (P*+qx;+

111. Pumping lemma for
are not context-free.

a) True

iv. PDA stands for
a) pull down a
c) push

v. In
independent

a)

c)

present state and is

, a*,initia| finial)

_ state

string x whose length is divisible by_
AS grarnmar

or two lines

Fin

...

(sM)

.

Page 1 of2

(sM)

KT SYcS Se rn TtT March
Paper / Subject Code: 80501 / Theory of Computu,,on. 

,,,

ir,. Derivation tree
\. Decidable languages

54979



AttemQ.2

Define

thept
is

Code:ectSubj!Paper

following:

vBrieflton?automa
string
Meal

anddeterministic

operationsonnote

examp

AlsoGrammar

ofTheoryI80501

explain

non

WhatA.

B.

C.

ate

C

Wri

Compare
Construct

Attem
Prove

Give example.
What is meant
the concept.

D. W'rite a note on
E. State and prove
F" Draw the transition

Briefly
Write a

Design a
ct's

finiteaby
v

aeceptingA
4.

DF
moda

Jlswtn

finite

examples.

aof
between

between
examples.

suitable

bI

with

{a,

rnodels.

overw

k{oore
strings

and
all

D

E.

F.

Q.3
A.
B.

C.

Qr
A

B.
C,

D.
E.

F"

ompare
suitable

(1sM)
automata.

of even number of

of construction of minimum automaton.

2Ar + AQ IAr -+ 11

(1sM)

001122 e L(G)
states equivalent to the regular expression

accepts {d1'I n> t}
maehines

problem of Turing machine.

(b)

Pape 2 of )

64Y rHRED

explain what is a

following:
(a+b)* : a*16o*S

Explain

a*+ba\:

L(G)
C.

D.

l-"

F.

Wr,ite,a

,54979


